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1. (1) Robbins has stated the .........c..coveiiiiiiinl. definition of economics.

(A)
(B)
(C)

Attempt al/l questions.
All questions carry equal marks.
Wrong answers will carry negative marks.
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Scarcity-oriented
Wealth-oriented
Welfare-oriented

None of the above
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Till the end of the 18th century Ecnomics was a part of ....................

(A)  Sociology (B)  Psychology

(C) Political Science (D)  Computer Science

18 1 IARTIId HALIME vevveeeeeennnn. T TEH YN HEel S 3.
(A) HHSRTH (B)  HMERTHA

(C)  USoITE (D) T I

By the ..ccooeeeeeeeees analysis method the whole economy is studied.
(A)  Micro (B)  Macro

(C) Micro and Macro (D)  All of these
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Demand curve is the relationship of two factors :
(A) Stock & Demand

(B)  Supply & Demand

(C)  Consumption & Demand

(D)  Price & Demand
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Diminishing unit of consumption is the ................. utility.
(A)  Total (B) Average

(C)  Marginal (D)  Positive

YN THEHEER ¥ed S0 STAfTa wgursy et
(A)  THU ST (B) HUH{ 3wl

(C) Toma 3IwEfimar (D)  HAHS ITANT
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Which goods have inelastic demand ?

(A)  Comfort (B) Necessary
(C)  Substitute (D)  Luxuries
RV ST AEON STeTefaeh 39d ?

(A) (B)  SiterrewTeh
(C) Rk (D) ==

The equilibrium of indifference curve shows .................
(A) Marginal utility

(B) Highest consumption

(C) Lowest satisfaction

(D)  Highest satisfaction
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Which of the following factors is/are the elasticity of demand ?

(A)  Nature of goods
(B) ~ Substitute goods
(C)  Multiuses goods
(D)  All of the above
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9 Consumer equilibrium means :
(A) Get maximum satisfaction from the selected ‘bundle of goods’
(B) Get minimum satisfaction from the selected ‘bundle of goods’
(C)  Get average satisfaction from all ‘bundle of goods’

(D) No satisfaction from the selected ‘bundle of goods’
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(C) Troeced TREIRIRT HeHERy qHeE fHed

(D) Treecden 9% FHgHRE weE fHesd &

(10) In the law of supply ................. factor is independent.
(A) Demand (B)  Stock
(C)  Price (D)  Production
TS fRER S TS Tl
(A) O (B) W@
(C)  Terwa (D) 3
Theory
Criticise the law of diminishing marginal utility. 10

Nes S o o

gecdl o SwRifia=n fame fesrrress e <.
Or
(feram)

Explain the income effect by the use of indifference curve.

I M=l HRAM Icq=1 IR T 6.

What is Economics ? Explain the scope of economics. 10
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Or
(feram)
Explain the merits and demerits of micro-analysis.
H&H foveivo ggde qU-gY T .
4. Write short notes on (any two) : 10
(1) Consumer’s Surplus
(1) Determinants of Demand
(i1  The types of Elasticity of Price
(v Law of Supply.
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